AP Statistics - Geometric and Binomial Probability Models

. . 3 conditions must be met for either of these:
Two types of probability models for Bernoulli Trials:
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The Geometric model - Geom(p)
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a) How many questions do you expect to answer until you g@orrect?
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b) What's the probability that the first question you answer correctly is the 4™ question?
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c) What is the probability that the first question you answer correctly is the 4™ Sth@Gth question? (eek)
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The Binomial model - Binom(n, p)

n= pumer of 4n'als p= be(mlﬂl'lf'*g ok " success
— o Y
X= 4 o8 suaeses %= |- P = Pprob. PN
—
Formulas:

= np = fefion e ()T

2. The “Hungarian” Problem II
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On that 10 question “Hungarian Quiz"..~” X
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a) What are the mean and standard deviation of the number of correctly answered questions?
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b) What is the probability that a student got exactly 4 questions correct?

(Hint: since we need to find the probability of getting ANY 4 questions Correct —and since there are a number of ways for that to occur — we need to use a Binomial model here)
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c¢) What is the probability that a student answered no more than 5 correctly?
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d) What is the probability that a student answered at least 1 question correctly? (think back)

P(x=1) = 1- ?(x=0)
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e) What is the probability that a student answered at least 4 questions correctly? (ugh..)
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